Alg 10-23-19.notebook October 25, 2019

Can more than one [IN¢ Nave e same SIope 7 1T More
than one line has the same slope, what makes the

L =45 lines different?

when x = 12. K% 25 J= X Y % 9“ 6 a. Graph the following set of equations on the game
% 1A graph. Label each line. : 5 4_}0

Problem of the Day: Write an equation in direct
variation and solve. If y =415 when x = 2 5 ﬁnd y

Plan for the Day: : FH RS &
Collect direct variation worksheet 5X7\"\ Ly =x %luﬂ. LY E‘E?\
Notes on intercepts iy =x- n 1/‘.266‘ Ny ] £ 1E4EEN
Homework Week 9 is due tomorrow ii. y =x +3 b\OS‘i TN + :
Objective: We will be able to find the intercepts. V. y=x 12 purple s
Today is National Boston Cream Pie Day!! VYT xs 3"36'\ At
b What&rég@tlons Ca . @3@2&:? ©http://viewpure.com/hflOYVLSfWo

\

c‘\sN'}lat is the slope of all of the hnes’7
m= |

d. How does addition or subtragtion of a "b" value MPviewpure.cominRLATaNKq7M?start=08end=0
change the line? (), Whethe ,‘fwo§

oo ac ledow parent fund

e. Complete. Lines with the same slope are

_Parallel

https://www.youtube.com/watch?v=cDL3wGfCDDo
®

https://www.youtube.com/watch?v=CQjw5REJ8E
®

In a function, an intercept is the point at which a line Study the graphs of the lines below.
crosses an axis. Ifit crosses the y-axis, it is called the a. b.
y-intercept and the point is (0, y). \

If it crosses the x-axis, it is called the x-intercept and NN

the point is (x, 0). \

The x-intercepts are also known as the zeros because x-intercept: x-intercept!

the x-intercepts are where the value of the function is
Zero. y-intercept: y-intercept:



http://viewpure.com/hfl0YVLS_Wo
http://viewpure.com/nRLA7aNkq7M?start=0&end=0
https://www.youtube.com/watch?v=cDL3wGfCDDo
https://www.youtube.com/watch?v=CQjw5jREd8E
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Finding intercepts from a table xample: i(l §
y-intercept x-intercept/zero 0 P
©,y) (%, 0) 0
X . X _ |1y T
0 y-nt x-int| 0 a. Determine the slope. 2 §
b. Circle the x-intercept (zero of the furrctrory:
c. Write the coordinates of the x-intercept.
d. Circle the y-intercept.
e. Write the coordinates of the y-intercept.
Example 4: 3 v Finding intercepts from an equation:
-1 -10
e > to find the x-intercept, plug 0 in for y and solve for
3 -2 X.
4 0
. : : to find the y-intercept, plug 0 in for x and solve for
a. Determine the slope. y.
b. Circle the x-intercept (zero of the function).
c. Write the coordinates of the x-intercept.
d. Circle the y-intercept.

e. Write the coordinates of the y-intercept.

Example: Find the x-and y-intercepts for the
equations.

a. y=4x-3

b. 2x+5y=10

c.y=28

d x=8
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